VCE & PDF https://www.pass4itsure.com/h12-891.html
g 2024 Latest passditsure H12-891 PDF and VCE dumps Download

PassditSure.com

H12-891°%4s

HCIE-Datacom V1.0

Pass Huawei H12-891 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/h12-891.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest H12-891 Dumps | H12-891 Practice Test | H12-891 Braindumps 1/3


https://www.pass4itsure.com/h12-891.html
https://www.pass4itsure.com/h12-891.html
https://www.pass4itsure.com/h12-891.html

VCE & PDF https://www.pass4itsure.com/h12-891.html
2024 Latest passditsure H12-891 PDF and VCE dumps Download
PassditSure.com

QUESTION 1

The interface SerialO of an existing router is in OSPF area 1, and the interface SerialO is set to Silent interface. So what
kind of impact will this setting have

A. OSPF establishes available adjacencies through this interface
B. OSPF does not add routes learned from the interface to the local routing table

C. OSPF does not establish any neighboring relationships through this interface D. OSPF receives routing updates from
neighbors

Correct Answer: C

QUESTION 2

In the topology shown in the figure. Running the OSPFv3 protocol over the entire network does not produce what type
of LSA on R1 without external route introduction?

A. Intra-Area-Prefix-LSA
B. Inter-Area-RouterLSA
C. Link-LSA

D. Inter-Area-Prefix-LSA

Correct Answer: B

QUESTION 3

The default configured switch has an empty MAC address table at this time , and Host A connected to the switch issues
the first unicast data frame, so what will the switch do after receiving the teaching system? ( Single choice questions).
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A. The switch will drop the data frame
B. The switch records the source MAC address of the data frame and floods the data frame
C. The switch will forward data to interface

D. based on the mesh MAC address of the data frame The switch caches the data frame and waits for the destination
host to send the effect frame before forwarding it

Correct Answer: B

QUESTION 4

Port isolation technology deployed in Ethernet can realize Layer 2 interoperability and Layer 3 isolation, making
networking more flexible.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 5

Huawei\\'s two switch SWA, SWB is connected together through 7 Ethernets, and static route aggregation is configured,
and the corresponding ports on the switch SWA are E1/0/1, E1/02, E1/0/3, E1/0/4, E1/ 0/5, E1/0/6, E1/0/7, configured
sequentially as if switch SWA, SWB Each aggregation group supports only 6 ports.

A. With the same configuration across ports, the Ethemet 1/0/7 port is the aggregate group Unselected port

B. With the same configuration of each port, the Ethemet 1/0/6 port is the aggregate group Unselected port

C. With the same configuration of each port, SWA randomly selects one of the 7 ports as the aggregate group
Unselected port

D. With the same configuration of each port, the Ethemet1/0/1 port is the aggregation group Unselected port

Correct Answer: A
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